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=5 oA 2015. 09. 06,.(ZL =)
[1~4] 09:30~13:30, [5~6] 09:40~11:40

ARHS Z3 X H EX ZH{/cc) FZ(/min)

1 SXEH M 0.000 10.2

2 SEXHAM2 0.000 10.2

3 EX|HHA M3 0.000 10.0
4 BExXHAH M4 0.000 10.0
5 el & =4 0.000 10.0
6 M| 0.000 10.1
55 Z1}
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" 2015. 09. 07.(&ed %)
o [7~10] 09:40~11:40
AEHT =3 XNH =3 d1H{f/cc) T 2(l/min)
7 H 7| =2 2X EH1 0.000 10.2
8 H7| 22 #x&E2 0.000 10.2
9 HI7|EETXHE3 0.000 10.0
10 H 7|22 X E4 0.000 10.0
£8 23zt




- 2015. 09. 08.(= #)
B [7~10] 09:20~11:20
AEHS 28 HE 3 Z3Kf/cc) F2H(1/min)
7 H 7|22 32X E 1 0.000 10.2
8 HZ| 222X H2 0.000 10.2
9 H I 222X A3 0.000 10.0
10 H 7| 252X &4 0.000 10.0
SH &




2015. 09. 09.(HZ|& Ht=)

58 24 [7~11] 09:30~13:30
ANEHS =3 XH =& Z1Hf/cc) F2(I/min)
7 H2| 222X E1 0.000 10.2
8 HI7| 223X E2 0.000 10.2
9 Ho| 22 px|H3 0.000 10.0
10 H 7| 222X &4 0.000 10.0
11 gtE 0.001 10.0
5% 27t
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